SMTE 68 10H  (K) B IR 5 #l5ehi5

kv [ =
1.9 % (BAL lkg) 2.8 % (BfL 1ke)
& B|x=Em| & @|% fE|& B|EEEt | & 6| % (@ & B| & & |XTEME E| % @
reza | BN 216] 130 »iEn* BB A
P »y | %1 | 518 389 BANA
cAUA | IRE | 2700 162) beb | EED | 540 270| | HEasA
ziE> e—v> | @RI | 576] 408 X<
7=gnZ L3652 L Wlha
NAZ A BHIRZALS LVEY nY7AN=T 529| 412
F<xw | BEY 115 79 272z VAT |Hvvas
Fray | FE 130 86| »AL & SU
B nszs| KB | 722 -[FhoLs [BIRE| 324 216 Ho
h¥ x5 612 - xruvg 3 K
S% VG ZK
ZEon r3n¥ | BEI | 205 162 ]
K| ORI 600 -lrELory| B 1,180 920 itk
Lo A¥< woz | EE 650[ 540 | PR
7 ARG AR inxry| BB 550{ 430 =25
Jovyay Lot | BB 750 640 KES | FIvzy
vaz | BE 173|130 Bl
xp5) | BB 540 346 RATATY b
ob
3.8 A (BAL lkg) 3
& B xZEm | & @)% @& B| x=em | & @] % & ®
<3 | BRRE | 7,576] 1,282] x&v wh D
MU X ¥ Wb UK
&) A | 1,998 540 ®vwa Any | V—IVA
war | BEIE | 3,402 594 oidvz TY VA
so¥ | B 1,080 605 mxv | FEILL |29,700] 9,396 S
HU = 4,243 T156| TAZE <27 | &R | 2,160| 1,755
| g 3,564 125 b5 B5L>
A EZZIRY T
VWhL MET NFF 74y 323 -
THEIES SR Y 7IN—Y
25 (dbvESE| 1,782) 432] wu | EHR | 4,212] 1,620
#x0 | )l | 5,400| 1,080 7w Bl |5,022] 486
OB
V5D
HU
PR ¥
ey | Al 432 259
Taove | B | 2,592 162
4.7 % (r 14x)  [$R¥ITR DO H) 5. A\ E
& B| xEmw |& 6| % 8|5 B| xEZew | & 6% (@
HAR B -5 | 63.1
AT 2y R = 5.9
BN -fE Ml 16.9
BN
H—F—Yav




